Virginia High School League

Scholastic Bowl, 2003-04 season

District Competition, Match #13


These questions are for use in the Virginia High School League’s Scholastic Bowl competition at the District level. Shawn Pickrell, Marian Suter, Chris Moretti, Susan Gallaher, Adam Fine and Gary Bugg are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a) Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District before all District champions have been announced is prohibited. This is meant to keep question security.

(b) Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined. This is also meant to keep question security.

(c) After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged.

(d) These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period, 15 toss-ups

1.  THIS IS A MATH QUESTION. X is an odd integer.  For 10 points, what is the arithmetic mean of the next five even integers, in terms of x?

ANSWER: _X+5_

2.  For 10 points, what number is used to order the elements in the periodic table?

ANSWER: _atomic number_

3.  The highest mountain in this range is Slide Mountain at 4,180 feet. The legend of Rip Van Winkle was set in these mountains. For 10 points, what are these mountains, a popular resort destination for New York City residents?

ANSWER: _Catskill_ Mountains

4.  On April 24, Donald Carty resigned as chairman of, for 10 points, what airline whose New York Stock Exchange symbol is "AMR"?

ANSWER: _American_ Airlines

5.  This five-letter word is the feminine form of a French word, and is descended from a Latin word meaning innate or native. For 10 points, what is this word that means showing a lack of sophistication or lacking worldly experience and understanding?

ANSWER: _naive_

6.  The eyepiece of a microscope is 10X and the objective lens is 40X. For 10 points, what is the total magnification of the microscope?

ANSWER: _400_ or _400X_

7.  A hole in the left wing was the suspected cause of the February 1 explosion of, for 10 points, what Space Shuttle while it re-entered the Earth's atmosphere?

ANSWER: _Columbia_

8.  In the sixteenth century, the major and minor diatonic ones replaced the ancient Greek Ionic, Doric and Aeolian ones, while in the 1700s, the twelve semitone chromatic version was invented.  For ten points, what five-letter term refers to the collection and arrangement of notes into ascending or descending order of pitch?

ANSWER:  _scale_

9.  This man served as virtual ruler of Russia during Feodor's five-year reign, becoming czar himself after Feodor's death. However, noble families soon rebelled against him, ushering in the "Time of Troubles". For 10 points, who is this Russian ruler, the subject of an opera by Modest (MOH-dest) Mussorgsky (muh-SORG-skee) and whose name was the basis for the villain on Rocky and Bullwinkle?

ANSWER: _Boris_ _Gudunov_ (GOO-doo-noff)

10.  She was born in neighboring West Virginia, but her parents soon moved to China to serve as missionaries. For 10 points, name this American author best known for The Good Earth.

ANSWER: Pearl Sydenstricker _Buck_

11.  For 10 points, what geothermal features form when groundwater is superheated by pockets of magma and erupts violently as a flash of steam and hot water at the earth's surface? 

ANSWER: _geysers_ 

12.  She was the goddess of the saltwater ocean, and with the freshwater sea, Apsu, she gave birth to a number of deities.  After Ea killed Apsu, she unleashed a number of monsters on the world, but Marduk killed her, separating her corpse into the sky and the earth.  For ten points, who was this original goddess, villain of the story of Babylonian creation, the _Enuma Elish_ (eh-NOO-muh eh-LISH)?

ANSWER:  _Tiamat_

13.  For 10 points, what is the chemical element with symbol Mo?

ANSWER: _molybdenum_

14.  Christopher Sholes invented the first practical one in the U.S., and gunsmith Philo Remington started manufacturing them in 1874. A later version, which could produce lower-case letters, appeared in 1878, and by 1935, electric ones began to appear. For 10 points, what are these machines that have largely been replaced by electric word processors and computers? 

ANSWER: _typewriter_s

15.  Some of her published works include Now Sheba Sings the Song and Gather Together in My Name. For 10 points, name the author who wrote I Know Why the Caged Bird Sings.

ANSWER: Maya _Angelou_ 

Second period, 10 directed questions for each team

Questions with an A after their number will be read to the team that selects set A of questions; questions with a B after their number will be read to the team that selects set B of questions.

1A.  In what 1896 Supreme Court case was the doctrine of "separate but equal" established?

ANSWER: _Plessy v. Ferguson_

1B.  TWO ANSWERS REQUIRED. What two railroads met at the historic "golden spike" ceremony at Promontory Point, Utah, on May 10, 1869?

ANSWER: _Central Pacific_ Railroad and _Union Pacific_ Railroad

2A.  What Soviet composed fifteen symphonies, including the _Leningrad_, and operas such as "The Nose" and "Lady Macbeth of Mtsensk"? (meh-TSENSK)

ANSWER:  Dmitri _Shostakovitch_ 

2B.  When cells take in small or liquid particles it is called pinocytosis (PIE-noh-CYE-toh-sis). But what is it called when cells take in large solid particles, like when a white blood cell consumes a worn out red cell?

ANSWER: _phagocytosis_ (FAG-oh-CYE-toh-sis)

3A.  THIS IS A MATH QUESTION. B is the Presidential number of George W. Bush. S is the number of states in the contiguous US. What number must be added to the sum of P and S in order to get the smallest perfect square larger than the sum?

ANSWER: _9_ (43 + 48 = 91 + 9 = 100 = 10^2)

3B.  TWO ANSWERS REQUIRED. Give the title and author of the short story in which Gregor Samsa awakens to find that he has turned into an enormous insect.

ANSWER:  _The Metamorphosis_ and Franz _Kafka_

4A.  Identify the Walt Whitman poem from these lines:  “Ever returning spring, trinity sure to me you bring, / Lilac blooming perennial and drooping star in the west, / And thought of him I love.”

ANSWER:  _ When Lilacs Last in the Dooryard Bloom’d_ (from Memories of President Lincoln)

4B.  THIS IS A MATH QUESTION. What is the sum of the interior angles of a 12-sided polygon? 

ANSWER: _1800_ degrees

5A.  Compounds that have the same molecular formula, but a different structural arrangement are known as what?

ANSWER: _isomers_

5B.  What men's magazine, colloquially called "Cosmo for Men", was founded by Felix Dennis in 1995?

ANSWER: _"Maxim"_

6A.  In the C programming language, how many bytes are in a variable of type char (char as in char a steak)?

ANSWER: _1_

6B.  Who was Chancellor of West Germany, then of a unified Germany, from 1982 to 1998?

ANSWER: Helmut _Kohl_

7A.  THIS IS A MATH QUESTION. What imaginary trigonometric expression is often abbreviated as the CIS (pronounce each letter individually) of theta?

ANSWER: _COSINE OF THETA PLUS I TIMES THE SINE OF THETA_ (cos T + i sin T)

7B.  THIS IS A MATH QUESTION. 1, 8, 27, 64, 125, 216, 343 ... What is the next term in this sequence?

ANSWER: _512_ (the numbers are successive perfect cubes)

8A.  Solve the following word equation. For example, if I said gloomy + military pilot who has destroyed 5 or more enemy aircraft = a wry expression, you would answer grimace (grim + ace). Here is your word equation:  to disfigure + alcoholic beverage = border

ANSWER:  _ margin _ (mar + gin)

8B.  What is the liquid part of blood called?

ANSWER: _plasma_

9A.  What concept of concern for the welfare of others at the cost of the individual was developed by Auguste Comte as an ethical opposite of egoism?

ANSWER:  _altruism_

9B.  On May 19, what Presidential spokesman announced his resignation?

ANSWER: Ari _Fleischer_

10A.  What is the name of the arm of the Baltic located between Sweden and Finland?

ANSWER: _Gulf of Bothnia_

10B.  What John Bunyan allegorical work features Christian making a journey from the City of Destruction to the Celestial City? 

ANSWER: _Pilgrim’s Progress_

Third period, 15 toss-ups

1.   For 10 points, identify the prepositional phrase in the following sentence:  The age difference between my brother and me is ten years.

ANSWER: _between my brother and me_ (must have all of it)

2.  For 10 points, what comic strip features the MacPherson couple and their young offspring: Zoe, Hammy, and born in 2003, Wren?

ANSWER: _"BABY BLUES"_

3.  The process of fertilization involves sperm meeting egg. For 10 points, what is the one cell called that results from fertilization?

ANSWER: _zygote_

4.  He arrived in April 1793, and was celebrated by the people, if not the US government. However, his stay was cut off when he broke a promise not to refit a captured British ship as a privateer, and he was then asked to leave. For 10 points, who was this representative of the French government, best known as "Citizen"?

ANSWER: Edmond Charles _Genet_ (ZHEH-nay or Citizen _Genet_

5.  For 10 points, what name is shared by the 1689 Act of Parliament that limited the power of the British monarch and established Parliamentary supremacy and by the first 10 amendments to the U.S. Constitution?

ANSWER: _Bill of Rights_

6.  As a teenager, he worked in the offices of William LeBaron Janney and Frank Furness.  In the 1890s, he designed the Guaranty Building in Buffalo and the National Farmers' Bank in Grinnell, Iowa, but he is best known for works in St. Louis and Chicago.  For ten points, what architectural partner of Dankmar Adler also designed the Carson, Pirie, Scott Store and the Wainwright Building?

ANSWER:  Louis _Sullivan_ 

7.  Keats refers to this Greek god in "On First Looking into Chapman's Homer". For 10 points, who is this god, whose name is the same in Roman mythology?

ANSWER:  _Apollo_ 

8.  This language's alphabet has 35 letters, but v, q and x only occur in words borrowed from other languages. The vowels a and e can have a cedilla (say-DEE_luh) hanging from them, the letter z can have a dot above it, and the letters c, n, o, s and z can have rising accent marks above them. For 10 points, what is this language that also can put a slash mark through its L's and is spoken in cities such as Krakow, Gdansk (guh-DANSK) and Warsaw?

ANSWER: _Polish_

9.  For 10 points, 1000 of what units make up one nanosecond?

ANSWER: _picosecond_s (QUIZMASTER: it then goes femto, atto, zepto and yocto)

10.  For 10 points, what general led the British Eighth Army to victory at El Alamein (ah-lah-MAIN) in October 1942?

ANSWER: Bernard Law _Montgomery_

11.  For 10 points, how many articles were in the Constitution as originally written?

ANSWER: _seven_

12.  These currents occur in the earth's molten mantle, in our oceans and in the atmosphere. For ten points, name the process whereby warmer mediums rise and cooler mediums sink, forming the basis for these circulation patterns. 

ANSWER: _convection_ currents 

13.  Considered to be the patron saint of the theater, he is the Greek poet who added the choral chants and lyrics to Greek drama. For 10 points, name this person, or the word that comes from his name and means an actor or actress. 

ANSWER: _Thespis_ or _thespian_

14.  Mahatma Gandhi related it to the principle of disinterested action, as opposed to meditation.  Traditionally, it has been linked to samsara, in that intentions and actions can lead to higher or lower positions in the next life.  For ten points, what concept, from the Sanskrit for "deed," refers to the positive or negative result of performing good or bad deeds?

ANSWER:  _karma_

15.  THIS IS A MATH QUESTION. For 10 points, what is the octal equivalent of the binary number 10101?

ANSWER: _25_ 

SPARE QUESTIONS (In the second period, try to replace the question discarded with the a spare question in that subject area – i.e. science for science, social studies for social studies, etc.) Be sure to cross out the questions if/as they are used.
1.  For 10 points, who was the love interest of Tom Sawyer?

ANSWER: _Becky Thatcher_

2.  He was the first King of Britain to enter the House of Commons, doing so in 1642. However, he failed to arrest the leaders of the Long Parliament, and was forced to travel to the North of England to raise an army, which was defeated three years later by the Roundhead forces led by Oliver Cromwell. He was captured, and finally executed in 1649. For 10 points, who was this King of England that lost the English Civil War?

ANSWER: _Charles I_ 

3.  The company it evolved from was founded in 1889 to manufacture playing cards.  In 1991, the company started distributing the coin-operated arcade game "Donkey Kong".  For 10 points, what is this Japanese corporation that started selling the US version of it's "Famicom Entertainment System" in the United States in 1985?

ANSWER: _NINTENDO_

4.  THIS IS A MATH QUESTION. For 10 points, by what factor is 3-squared times six larger than the square root of three squared times 6?

ANSWER: _3_

5.  He introduced the theory of mathematical probability and is considered to be the founder of the modern theory of numbers. For 10 points, name this Frenchman who is perhaps best known for his “last theorem.”

ANSWER:  Pierre de _Fermat_ (fer-mah)
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